

$$\text{all)} 1 - v \sin^p = w \sin - 1 \Rightarrow v \sin^p + w \sin - v = 0 \quad \frac{-w \pm \sqrt{w^2 - 4v(1-v)}}{2v} \quad \left\{ \begin{array}{l} \frac{1}{v} \checkmark \\ -v \times \end{array} \right.$$

$$\alpha = v k \pi + \frac{\pi}{4}, \quad \alpha = v k \pi + \frac{3\pi}{4}$$

ج) $4\cos^4 - 1 + \cos - 4 = 0 \Rightarrow 4\cos^4 + \cos - 5 = 0$

$\Rightarrow$ جميع مصائب $\left\{ \begin{array}{l} \cos = 1 \quad \checkmark \\ \cos = -\frac{10}{4} \times \end{array} \right.$ 4 PRT

$$\begin{aligned} \text{الف) } -\cos \varphi x &= \psi \sin \varphi x \cos \varphi m \Rightarrow \cos \varphi x (\psi \sin \varphi x + 1) = 0 \\ \varphi x &= K\pi + \frac{\pi}{\psi} \Rightarrow x = \frac{K\pi}{\psi} + \frac{\pi}{\psi} \quad \begin{matrix} k=0 \\ k=-1 \end{matrix} \\ \varphi x &= K\pi - \frac{\pi}{\psi} \Rightarrow x = K\pi - \frac{\pi}{\psi} \quad \varphi m = \varphi K\pi + \pi + \frac{\pi}{\psi} \Rightarrow x = K\pi + \frac{\psi\pi}{\psi} \\ \text{ب) } \cos^2 + \psi \sin \cos - \sin^2 &= 0 \Rightarrow \cos \varphi x + \sin \varphi x = 0 \\ \Rightarrow \sqrt{\psi} \sin \left(\varphi x + \frac{\pi}{\psi} \right) &= 0 \Rightarrow \varphi m + \frac{\pi}{\psi} = K\pi \Rightarrow x = \frac{K\pi}{\psi} - \frac{\pi}{\psi} \end{aligned}$$

$$\text{all) } \mu \cos + 1 = \frac{1}{\frac{\sin}{\cos}} = \frac{1}{\cos} \xrightarrow{\times \cos} \mu \cos^2 + \cos - 1 = 0 \quad \frac{-1 \pm \sqrt{1+1}}{2} \quad \left\{ \begin{array}{l} \frac{1}{\mu} \\ -1 \end{array} \right.$$

$$\chi = \mu k \pi \pm \frac{\pi}{2} \quad \chi = \mu k \pi + \pi$$

$$\begin{aligned} \text{b)} \quad & \cancel{r} \sin^r - \sin \cos + \cos^r = \cancel{r} \sin^r + r \cos^r \Rightarrow \cos^r + \sin \cos = 0 \\ & \cos (\cos + \sin) = 0 \quad \cos = 0, \quad \sqrt{r} \sin \left(n + \frac{\pi}{2} \right) = 0 \\ & x = K\pi + \frac{\pi}{r}, \quad x + \frac{\pi}{2} = K\pi \Rightarrow n = K\pi - \frac{\pi}{2} \end{aligned}$$

$$\begin{aligned} \text{جـ)} \quad \cos\left(\frac{\pi}{K} + x\right) \left(+ \cos\left(\frac{\pi}{K} - x\right) \right) &= \frac{1}{K} \Rightarrow \cos\left(n + \frac{\pi}{2}\right) \sin\left(n + \frac{\pi}{2}\right) = \frac{1}{2} \\ \frac{1}{K} \sin\left(Kx + \frac{\pi}{K}\right) &= \frac{1}{K} \xrightarrow{\text{نضرب}} \sin\left(Kx + \frac{\pi}{K}\right) = \frac{1}{K} \Rightarrow Kx + \frac{\pi}{K} = K\pi + \frac{\pi}{K} \\ \Rightarrow x &= K\pi - \frac{\pi}{K} \quad , \quad Kx + \frac{\pi}{K} = K\pi + \frac{\pi}{K} \Rightarrow x = K\pi + \frac{\pi}{K} \\ \text{ب)} \quad \sin\left(\frac{\pi}{V} - Kx + \frac{\pi}{V}\right) &= -\sin Kx \Rightarrow \sin\left(\frac{19\pi}{11} - Kx\right) = \sin(-Kx) \\ \frac{19\pi}{11} - Kx &= K\pi - Kx \quad \times \quad \frac{19\pi}{11} - Kx = K\pi + \pi + Kx \Rightarrow x = \frac{K\pi}{V} + \frac{\pi}{V} \end{aligned}$$

$$\frac{P \sin \varphi_n \cos \varphi_n + \sin \varphi_n}{\sin \varphi_n} = \sin \varphi \cos \varphi \Rightarrow P \cos \varphi_n = 0$$

$$p_m = K\pi + \frac{\pi}{\nu} \Rightarrow \eta_c = \frac{K\pi}{\nu} + \frac{\pi}{5}$$

$$\cos \frac{\pi}{k} = \frac{1 + \cos \frac{\pi}{k}}{\sin \frac{\pi}{k}} = \cot \frac{\pi}{2} = \frac{1}{\tan \frac{\pi}{2}}$$

$$\cos \frac{\pi}{k} = 1 \Rightarrow \cos \frac{\pi}{k} = \pm 1 \Rightarrow x = k\pi \pm \pi$$

$$|\pi - (-\pi)| = 2\pi$$

6

$$\cos^r - \sin^r \cos^r \mu_n = \sin^r + \cos^r$$

$$\sin^r + \sin^r \cos^r \mu_n = 0 \Rightarrow \sin^r \mu_n (1 + \cos^r \mu_n) = 0$$

$\downarrow$
 $= 0$

$$\cos^r \mu_n = -1$$

$$x = k\pi$$

$$\mu_n = \frac{r}{k}\pi + \pi \Rightarrow n = \frac{rk\pi}{\mu} + \frac{\pi}{\mu}$$

$$x = \pi, 2\pi, \frac{\pi}{r}, 0, \frac{2\pi}{r}$$

7

$$\frac{\cos \mu_n - \sin \mu_n}{\cos \mu_n} = \frac{\sin \mu_n}{\cos \mu_n} \Rightarrow \frac{\cos^r \mu_n - \sin^r \mu_n}{\cos \mu_n + \sin \mu_n} = \frac{\sin \mu_n}{\cos \mu_n}$$

$$\frac{\cos \mu_n}{\cos \mu_n} + \frac{\sin \mu_n}{\cos \mu_n}$$

$$\cos \mu_n \cos^r \mu_n - \sin \mu_n \cos^r \mu_n = \cos \mu_n \sin^r \mu_n + \sin \mu_n \sin^r \mu_n$$

$$\cos^r \mu_n \cos \mu_n - \sin^r \mu_n \sin \mu_n = \cos \mu_n \sin^r \mu_n + \sin \mu_n \cos^r \mu_n \quad \cos^r \mu_n = \sin^r \mu_n$$

$$\Rightarrow \sin^r \mu_n - \cos^r \mu_n = 0 \Rightarrow \sqrt{r} \sin \left(\mu_n - \frac{\pi}{r} \right) = 0$$

$$\mu_n - \frac{\pi}{r} = k\pi \Rightarrow x = \frac{k\pi}{r} + \frac{\pi}{r}$$

8

$$1 + \sin^r x = \cos^r x \Rightarrow \sin^r x = \cos^r x \Rightarrow \sin^r x = \sin \left(\frac{\pi}{2} - rx \right)$$

$$rx = \frac{rk\pi}{r} + \frac{\pi}{r} - \mu_n \Rightarrow x = \frac{k\pi}{r} + \frac{\pi}{r}$$

$$rx = rk\pi + \pi - \frac{\pi}{r} + \mu_n \Rightarrow x = k\pi + \frac{\pi}{r}$$

$$\frac{\pi}{1r}, \frac{2\pi}{1r}, \frac{9\pi}{1r}, \frac{\pi}{r}$$

بواب

9

الف) معادلة: $-\cos^r x = 1 \Rightarrow \cos^r x = -1 \quad rx = rk\pi + \pi$

$$x = k\pi + \frac{\pi}{r} \longrightarrow x = \frac{\pi}{r}, \frac{2\pi}{r}$$

ب) $(\sin - \cos)(1 + \sin \cos) = -1 \Rightarrow$ معادلة: $1 + \sin^r \cos^r + \sin^r \cos = \frac{1}{\sin^r + \cos^r - \sin^r \cos}$

$$\Rightarrow 1 + \left(\frac{1}{r} \sin^r \mu_n \right)^r + \sin^r \mu_n = \frac{1}{1 - \sin^r \mu_n} \Rightarrow \frac{1}{r} \sin^r \mu_n + \sin^r \mu_n = \frac{1 - 1 + \sin^r \mu_n}{1 - \sin^r \mu_n}$$

$$\Rightarrow \frac{1}{r} \sin^r \mu_n + 1 = \frac{1}{1 - \sin^r \mu_n} \Rightarrow \frac{1}{2} \sin^r \mu_n = \frac{1 - 1 + \sin^r \mu_n}{1 - \sin^r \mu_n} \Rightarrow \frac{1}{r} = \frac{1}{1 - \sin^r \mu_n}$$

$$\Rightarrow \sin^r \mu_n = -\frac{1}{r} x$$

$$x = k\pi$$